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i = ZHi/ZHl
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(FEAEE LR : (%)
RE | WiCkN) | ZWiCkN) | ai Aj Ci e@1 (kN) ZPi (kN) eQi/ZPi
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¥i 37.04 0.772| = 1.0 0K |
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| 1 3.000 | X— |11 926.100 14.300 1.54 194.3| = 150 OK
711 926.100 14.300 1.54 194.3| = 150 OK
X< |1 926.100 14.300 1.54 194.3| = 150 OK
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i =(hi /150 ) x (Qi /Pi)
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Rs - 7si / Frs
| | A | M| hilm) |Qi/Pi CHEEEH) | Silem) |  osi Frs | Rs
%= [1] 3.000 0.772 1.54 194.3 194.3| 1.00| = 0.6 OK
Xe| 1|  3.000 0.772 1.54 194.3 194.3| 1.00| = 0.6 OK n
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| HE | B | Ovm) | Gylm) | evy(m) |JxtJy (kN-m?/rad) | rex(m) | Rex
X— | 1 5.000 | 5.000|  0.000 494537 | 9.434| 0.000| = 0.15 OK
L xe | 1 5.000 | 5.000|  0.000 494537 | 9.434|  0.000| = 0.15 OK
A | BE | Ox(m) Gx(m) ex(m) | Jx+Jy (kN - m€/rad) | rey(m) Rey
YT ol 1 8.000 | 8.000|  0.000 494537 | 9.434| 0.000| = 0.15 OK —
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\T’ E95-F315 12.0x12.0 (cm) Lk = .00 (m), Of = 0.96
i o= 144 U (com? ) Z 3.0 (cmd)
io= w = 2.299
75 1k Fe = ZBUU (N/cmz), Fb = 3150 (N/em2), Fev = 780 (H/en?)
15 BOEEE) EF 9.0x5.0 (o), be = 117.0 (onf)
i’ui_iﬂijj 10 = 18000 (Eﬁﬁ) 16000 UIZEA), 38000 (GEEER) (10
‘ BERF DT Nix = )0, Ney = 0
= max , 0, 0) =
qxCx] = "g%8 4% 1.00%4.000 = 3318,7 (H/m)
qxCx] = 888.4x0.40x0.000 = 0, m
axCx1 = 828.4x0.40x4.000 = 1825.5 (N/m)
3727.88 (Nem) — 372788 (N-cm)
0.00 (He) — 0 (H-em)
1491).15 Wemy — 148115 (H-om)
fo = 1.1%Fe 8 = 953,353 (N/cmz)
SHE fov = Fov/3%1.5 = 390 (N/cn?)
fho=fo/ w = 4147 (Wem 5
0.27 = 1.[] 0K
0.35 = 1.0 0K
00 (), Ney = 18000 (W)
fo = Z. UXFC/3 = 1722.332 (H/cnt) = |
fb = 2.0%Fh3 = 2100 (N/cm2)
1N A fov = 8.0%Fev, 8 = 520 (H/ew?)
HifER fi = fc / w = 754 (N/om?)
NGk % fk) =016 = 1.0 0K
Wew/(hex fev) = 0.26 = 1.0 OK
N0/ (A3 fk) + Mal /(2> fbxCE) = 0.79 = 1.0 OF
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FEEHE. N = 36000 ()
EREEIL R fo = 0.8XE.0xFe 3 = 1386.667 (H/om?)
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NAGh =fk) =041 = 1.0 0K
N/ (ke fov) = 0,58 = 1.0 0K -
4] | ] i




KIZUKURID 3

SR TE G S

El st=s =0 X
BE: [3.3.2. B 15 - WEOHET (EA) ol [estare - pzmoxsong
i ﬂﬂ% i (‘ﬂE]J“:‘D =l
Ké‘ {fE NER XSL% Yll
= BB0X1.000 = B50 (N/m) — 6,50 (/em) ($0E)
& = 1000517000 <1000 Ci/my — 10700 Clljem) (A2
E105-F300 10.5x48 (em), Of
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1000 L= BTTE0 lond)) 7 - 33540 (oo 5730 (on
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w (f4E ) 8100 40 sgRD 1190
w CFFT ) 120000 BO00 G000 1.831
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500 boo0  1.831
0 0,000
0 0,000
0 0,000
n 0.000
0 0.000
0 0.000
0 0.000
0 0.000
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